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BCD count sequence(Note 1)

Outputs
Count ey Q@ Qs Qa
0] L L L L
1 L L L H
2 L L H L
3 L L H H
4 L H L L
5 L H L H
6 L H H L
7 L H H H
8 H L L L
9 H L L H
BCDBi- Quinary(5-2) (note)
Outputs
Count O oy Q oy
0] L L L L
1 L L L H
2 L L H L
3 L L H H
4 L H L L
5 H L L L
6 H L L H
7 H L H L
8 H L H H
9 H H L L
ResetC ount Function Table
Reset Inputs Outputs
RO | R RS R Q| Qc| Qs | Qa
H H L X L L L L
H H X L L L L L
X X H H H L L H
X L X L COUNT
L X L X COUNT
L X X L COUNT
X L L X COUNT
H HIGH LEVEL
L LOW LEVEL
X | DONT CARE
Note(1) PR s connected tdnput B for
Note(2) B&@fﬁﬁum connected InputAfor Bi-
qui%i'ycount to
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